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NATIONAL SENIOR CERTIFICATE EXAMINATION 
SUPPLEMENTARY EXAMINATION – MARCH 2018 

 
 

 
MATHEMATICAL LITERACY: PAPER II 

 
MARKING GUIDELINES 

 
Time: 3 hours  150 marks 
 
 
These marking guidelines are prepared for use by examiners and sub-examiners, 
all of whom are required to attend a standardisation meeting to ensure that the 
guidelines are consistently interpreted and applied in the marking of candidates' 
scripts. 
 
The IEB will not enter into any discussions or correspondence about any marking 
guidelines. It is acknowledged that there may be different views about some 
matters of emphasis or detail in the guidelines. It is also recognised that, 
without the benefit of attendance at a standardisation meeting, there may be 
different interpretations of the application of the marking guidelines. 
 
 
 
Key: a accuracy 
 m method 
 ca continuous accuracy 
 r rounding 
 ma method accuracy 
 
Topics 
F Finance 
MP Maps and Plans 
M Measurement 
P Probability 
DH Data Handling 
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QUESTION 1 
 

1.1 1.1.1 832 000 × 1 000 
  = 832 000 000 kg  (3) 
 

 1.1.2 832 000 000 kg ÷ 598 950 
  = 1 389,10 kg/hectare  (3) 
 
 

1.2 −14 250 000  9 838 500 × 100%
14 250 000

 

= 30,96%    (4) 
 
1.3 55 820 × 100 m × 100 m  
 = 558 200 000 m2  (2) 
 
1.4 73 390 tonnes = 73 390 m3 × 100 × 100 × 100 
   = 73 390 000 000 cm3  
 

 ∴ No. of boxes = 73 390 000 000 cm3 ÷ 51 770 cm3  
   = 1 417 616,38  
   = 1 417 617   
  OR 
 V box = 37,273 
 = 0,37273 
 = 0,05177 m3 

 ∴ 73 390 ÷ 0,05177 
 = 1 417 616,38 
 = 1 417 617 boxes  (6) 
 

1.5 1.5.1 % increase = R16,20 × 100%
R23,80

 

   = 68,07%  (4) 
 
 1.5.2 R76,99 × 1,0679 = R82,22  
  OR 
  R76,99 + R76,99 × 6,79% = R82,22 (3) 
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1.6 1.6.1 4 × (48 ÷ 6) 
  = 4 × 8  
  = 32    (3) 
 

 1.6.2 18 min × (48 ÷ 12) 
  = 18 min × 4 trays + 3 × 3 
  = 72 min + 9 
  = 81 mins 
 

  ∴ 10:00 + 81 min 
  = 11:21   

She is incorrect  (7) 
 

 1.6.3 390 °F = ° °
9 C + 32
5

 

  390 °F – 32 °C = °
9 C
5

 

               358 °F = °
9 C
5

 

              °358 F
9
5

 = °C   

        198,89° = °C 
        200 °C  (4) 
 

 1.6.4 259 Cal ÷ 3 × 4 
  = 345,33 Cal  (3) 
     [42] 
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QUESTION 2 
 
2.1 2.1.1 3 300 × 0,12  

  £396 ÷ 0,06  
  = R6 600  

 
  (R8 498 × 2) + (3 300 yuan × 11) + R36 685 
  = R16 992 + (R6 600 × 11) + R36 685 
  = R126 281  (8) 
 
 2.1.2 2 hrs 40 min + 3hrs 20 
  = 6 hrs   (2) 
 
 2.1.3 1 cm : 250 km  
  8,1 cm × 250  
  = 2 025 km  (4) 
 
2.2 2.2.1 D = S × T 

  Speed = 10,2 km ÷ 18
60

  

             = 34 km/h (3) 
 
 2.2.2 09:20 + 18 min + 3h 30 min + 23 min 

  = 13:31 or 1.31 p.m. (4) 
 
2.3 2.3.1 1,3 : 7,5 

  13 : 75  (2) 
 
 2.3.2 A = 1 300 000 000 × 1,0113  
   = 1 314 690 000  
  B = 1 314 690 000 × 1,0113  

   = 1 329 545 997  (4) 
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 2.3.3 2
1 300 000 000 people

9 597 000 km
 

  = 135,46 people per km2   (Accept 135 and 136) (3) 
 

 2.3.4 7,5 billion ÷ 5  

  = 1,5 billion  OR 1 500 000 000 (2) 
 
 2.3.5 40 075 × 2  
  = 80 150 km  (2) 
     [34] 
 
 
QUESTION 3 
 

3.1 3.1.1 22 565
10

    = 2 256,5     (Accept 2 256 and 2 257) (3) 

 

3.1.2 +
=

17 846  A 1 899,3
10

 

 A = 1 899,3 × 10 – 17 846  
 A = 1 147  (5) 
 

 3.1.3 1515 + 1919
2

 

  = 1 717   (3) 
 
 3.1.4 Volkswagen Polo Vivo  (2) 
 
3.2 9 797 413 × 28%  
 = 2 743 275,64 vehicles  
 (Accept 2 743 275 and 2 743 276) (2) 
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3.3 3.3.1 Thabo did not convert 18,3% and 24,6% to decimal or fraction (or 
use % key on calculator) Exclude % key. 

  R120 000 × 18,3% 
  = R21 960  
 

  R150 000 × 24,6% (same method mark) 
  = R36 900  
 

  ∴ Diff = R36 900 – R21 960 
   = R14 940  (5) 

3.3.2 Fewer people read newspapers (hardcopy), so of less value to 
advertise in newspapers. Many people read online, therefore, 
advertise online. (2) 

  [22] 

 

QUESTION 4 
 
4.1 4.1.1 Area = 5,55 m × 2,4 m = 13,32 m2 
  13,32 × 2 = 26,4 m2  

  26,4 ÷ 6,3 = 4,19 ℓ  
   = 5 ℓ 

  5 ℓ × R90 = R450  

I will not have enough money.  (6) 
 

 4.1.2 178,6 × 2  

  ∴ 357,2 cm  

  = 3,572 m 

  ∴ two desks will fit  (3) 
 

 4.1.3 A = 3,14 × (800 mm)2 ÷ 4  

  = 502 400 mm2 (2) 
 

4.2 4.2.1 E = R1 200 + R350 × No. of adverts (2) 
 
 4.2.2 A = R1 000 × 3  
    = R3 000  

  B = 15 000 ÷ 1 000  
    = 15  (4) 
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 4.2.3 On Answer Sheet. (6) 
 
 4.2.4 5   (2) 
 
 4.2.5 Yes – only 2 orders will produce a profit. (2) 
 

4.3 4.3.1 Option 1: R25 999 
  Option 2: R22 718,42 × 1,14  

     = R25 898,998  

     = R25 899 

  ∴ Option 2 is a better deal.  (3) 
 4.3.2 R1 263 × 24 – R25 999  
  = R30 312 – R25 999 
  = R4 313   (3) 

4.3.3 • The price looks less because it excludes VAT. 
• The repayments look less but are over 36 and not 24 months. 

 

(2) 

 
4.4 R275 000 – R0 tax = R275 000 
 R740 000 – [1 650 + 2% × (740 000 – 500 000)]  

 = R740 000 – [R1 650 + 2% × R240 000] 
 = R740 000 – (R1 650 + R4 800) 
 = R740 000 – R6 450 

 = R733 550 

 

 ∴ R275 000 + R733 550 
 = R1 008 550  (7) 
      [42] 
 
 

OR 
R22 718,42 + 0,14 × R22 718,42  
= R25 899  
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QUESTION 5 
 

5.1 5.1.1 9 9 61  + 
35 35 35

 − + 
 

  

  = 11
35

  (3) 

 

 5.1.2 9 9 6 +  + 
35 35 35

  

  = 24
35

  

  OR 

  35
35

 – 11
35

  

  = 24
35

  (3) 

 

5.2 12
21

 × 11
20

 × 10
19

 

 = 22
133

 × 100 

 = 16,54%   (4) 
        [10] 
 
   Total: 150 marks 

 

OR 12 11 × 
21 20

 

 = 11
35

 


